'TEST: FUNCTIONS | |NEME -~ .

QUESTION {.  a) Given that f(x) = x2 - %, £ind
\ (1) £(-3)

(ii) x when f(x) = 6

(b) If f(z) = az* + bz + c find the value of f(2) —~ f(~2).

Question 2.

(a) State:
(i) the natural (largsst possible) domain; and
(ii) the range

of the function f for which f(z) = /(1 — 3.

(b) Skstch the graph of the function in (a) (not on graph paper).

Qucstion 3. Draw sketches (not accurately drawn graphs) of the following curves,
showing essential features:

> ~ State the domain and range of each.
(&) y=x" -4 :
2 2
b = 9 /__——————
(¢) vy = -4
X
(&) vy = ixi + 1

(e) v = (x + 2)3
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QUESTION 4. & function is defined by the following rule:

! £flt) = 3t+2 for £t 0

i

’ = t2 + 2 for t« 0 )
(a) Draw a neat sketch of the function for -2 ¢t 2

(b) Evaluate £ (-2) + f (0) + 3 f (1)

(c) Is the function f continuous
at t = o0 ?




Question 4. Sketch

2
the curve vy *‘ X !

function even, o0dd or neither?
Give a

full explanation for your answer

QUESTION 6.

On a number plane dlagram,

-
Tor

_ shade the reglon
which the followlng lnequalltles are
satisfled simultaneocusly

X + Yy > 2
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BuseTioN I
) {(-3)- q-"3
= 12
.o 1
HYoS -xX = b
*=A- b=0O

(X-3)(x+2) =O

A=3 prA=-2

o) £} - f(-x)
=ax*bx ¢ ~[ax-bx+c]
=2bx

Dompin = X el

Ronge = xeR
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QUESTION 5

bYf(-2) +{(o) +3£(1)
=b+2 ¢35
=03

Chbout e y—axm)- .
= f(-0) for all &

The erapl’\ = sqmmeh’

S the ?unc/hor\ s even

¢) \(esi-f({) tts ot t=p
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